3.1 E)f{)ecvlakonj o(jWa/{ rvis

(la pc.r*\'ow(af, conhinauows — hef not  Atcemerily)

a-(?p’(bx(mcd\bh wi e ﬂj N

4
ok XE Gacv, et N2 L2

/n P ﬁ((ou::

(ii0) K (w)z Kl 2"

QESOE X, (o) € X (N5 & X (w), Ro(W)2K, ()2 K

W) (25 2 L K () = é":;?“("’)’ X ()

() T b ko we & GHar LA expectation, o ey ot fll o kave <nf2

viit ) (n conx Ao (iv) racplen

( ) Ef)f:?éﬁ()ﬁ].‘.ﬁ[)ﬁz)é-u éEZiJéE(K,}s@[iA;
3 LN Efx.)=2""

—4 7 —




' .
D;f [t X b a (3W.ﬂ)r.v.
Lo su ot X dar expectrbion { ot of Koy Ko (od Hons all of bean)

g.ds e/ﬁ(zec—fwh'ow,' oud we &f‘w
E(x]:= b E[R] = b €[X.)

N+ vo N e

Lo A
\ /
Same {7 pmpc.—? (vei),

All Barie f)ﬁ{zwq‘a'y) Yoot _wse—pr o{ E Hat we proved for ABcrefe e uls X
Lold f{@' yemeak X, $o0. ber a"“f‘f(":

-
'[_k;wﬂ&mn‘?-y) Fruvs XX fove o, Ken Yo Lo, 420
I ) € lx+v) = & ¥+ E(0)

(i) Elax) = a-€[x).

W% w&ﬁ-&m ‘?(v do(SCfO/C f.V’} Rn' ?u .
G, 2ikeX B AR T i ogment Kt oo che

| 2, -Xu= Yo | £ (2-x -\ (Z-2le 1Rl £10-Y] £ LG

e = A ’
0(6‘!3"‘0-62. é“f} o 2" Z’" );-)-“
» To show d 8B les cxpcafaﬁe.,} e Bownd

FRE (& N+l +3-27 (by * g0 neq-)

RUS ber %fe(/f’dﬁﬂh since. B [Rul¢o0, ALA Riak
iy B2\ ¢oo P Bl ol
- ({dowtity )
v Ty (%) agara , vie 3 ot
w |Tica » EITIee b~
( o W‘ZMY Asserete r.vls )

‘Eiin‘;{u'\?h)\é 3. 2-""’ 0

E\S‘i..')— AR AL 19.) (&L—Cm'f/ for derefe V)

5 gl - Bz~ €7 —o°
5 fi £l2.) = b BlR) + b ElR) (Liccrity of lint)
5> gla) = EKITE () o

~§¢3 - \J



MU I X ond Y e i dependent rv's  (wl geweal Lafel) :&u..\

Lﬂw: [T KY (u.) erp, and
L"" “% o) - ELx)- EN1).

I Again , @a reduchon o dnwebe V'S X, Y.

[ Xy - X | ® = XY= XY + XY - Ru Yl
T ART SR
?‘. | %} \\(‘i\l + ‘X')?h"‘Yn‘

.,...._-7\‘--—' N Nb _ .
" 2~ 1+ lY;Y.] <Yl +2

¢ 97" |xl+ (™) =i (1), (%)

e Bestonce Laep )i By () el 2
Ixy! £ |X.J Hv\\ + Kv\

ZM‘;{,, o (b Lok Tha) RS bas exp,

D) WS hop exp.

('M‘j) 8-.) (+#) djwa
‘ \V popwtarise
\EIXY; xh\(hl ‘ ﬁ K o (QK ()MP““’ 17()5(/?4 Po) 4"! ddr@é’y)
T velo) Gty § o B it
) (&Wo'{y ‘ Th ere

€ ) ACAN AN
(x.): '&u- & [Ya) (proV ;if Ah,/)

\’F\

o glea) = L ELXIENS] =

Kew/k <Vo.;r:auc¢, ) I4s defitom (u«(x): &€ k-ELF) > \&
| ol pwyc/ﬁw are po Mo Seme for Wﬁ_@ rvls
\ G0 fvr dﬂ,crek -

— 44 —



E?‘(Zt(,‘f'a.,fl‘o“ ol Gabuwswy Vs

%

THA(AE. [ (.d, X be a wnhnuows rv. will o(eun’ﬁ -Z Te..
\) Elx)= fx#('x) A
The expectatron exnth rff fw pntegral convege) ab:o% . .

i

K—-_Zisltuﬂf y ) : &5}(“’)’ “
\t(X} Lin E EX. (def3=tE for M} ‘ i‘; -
e _k (de E for dseeke)
= I X RA%e= [+

neoe je=-00 2
& M/b (ke)/2"
< = [ fodm  (defof desity)
z

k ¢X ¢ k!
f{ i kf2"
\ (l‘fl)/.zu
=l > [5)] f)due
N o K=~=00 2 k/z“

= b [ 5,00 £00) I

po
n- -po

. To cou.pfdc fe {MW,{ neal fo ref(ace 5.0 % x .
S, (x) - x| € V.
~ x#(x?dh’—lé 5 [gﬂ(.,),,,,( Llx)dn
\ J 15x
'\ . ~ -
\“\‘\ _—4— 2‘—9\ ( @('b)ﬁ“- - Z 0.
TLMS /(‘( &W"'C = T’CF@()M . D

—¢S —



"‘Lt(y

_S_"}/<Cxp<0(aj~fo« ,_f{ # 06;9., J & v ) —
(;.4 X fe a conbnnows r.v. will dewn,
3 R+ R G (Igar¢( neea se .ra.ék> Bemetion.  Theuw

oq

Elg()) = [ 900 #0x) dn

7. SPECIAL CoNTINVOUS DISTR'S .

%, Uniborn. dotn
Bl

M X~ Untf [a,b) , ac<hb, t{ X fop doari by Zt— fi , -—ﬁ(x)
i _i__ gfxgg <
\A ,QCu)z { "::— > &

e V4
CDF, F@)= [ fo0da e —L—

\
a b
\—)"‘
e D= 5 %&ﬁﬁ%;) ——

2
(
‘ é e (g2 4
'EIX’J’-&&M)M‘-’— gz{:a/zd/x.zz’: [_i--_a,i = =
‘° s 3
E(Xz] 7'.@(7()4‘«& = ---- _(xd« W‘ -g’:‘;(%—%‘): 13-(62+a4(52>
~50

5 e (X) = EIR-E)= 4’#(“;{) . B

LG~



E)‘ ,/./{\IM ore -#l'/ej a. “(0// fc/..rp/ [aTat-d [’1&3 +n add co2rme it dAllar Gn:.ou.m'/.!
(€ one coumds 0[,( eoch omount fo e it WK.J/{ dolicwr

whatl overatd ecrsr chould ope expecd ?

51178.43
P{obab‘i(ﬂfl'(, nwde( . ,D(.'soxacﬁ OI‘)LOL"‘\_‘IS’ (é 5$ 3

Z; = rowrdoff corory - Unif [-3, 4] fadsepesdent (-£0.43)

v Each amount s roumeled a\({ ‘/b )(‘":D; +Z‘. ($ '78)
- Tolad i é X,

\/0.( ( i X‘B = ; Var (X, 3 (@ ;l.-olefc.ua[t_uay
- .é VM(Z") = 'w_L ((mca Var (2:)= -;‘E , See Uni fora ola‘:*w'hqﬁb._")
S{. dent. OJ ix- s = Ang

4’ 2 = (while £ =g25)
=z << ‘%’ (WO'S+-Ccoc erar){ f.‘r/_ Nn=50 | f; —-12-0 2 ‘f
vL

. Aep{f(ﬂhoh . ﬁ‘ua\.k?aﬁlonl (Prnﬁo ‘)-,\5?\'¢ '\A\:\C(( ()‘)

S invested money in three uncor-
in the secdnd one, and 32

iivestmenl.

the annual rate of retupr for Bf. Caprio’s 1ol investméat. Letki. .
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Therefore, o, = +/0.G04087 = 0.064. Henle Dr. dprio should expecy/an annual rate
of retum of 13.11% with standard deviatiod 6.4% Note that Dr. Capri6 has reduced the
standard deviation of his investments considerably by diversifying investment; that
is, by not purting all of his eggs in one basket.
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